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Which of the following is a pentapeptide?

‘a) Carnosine. -

b) Glutathione. -

_d) Enkephalin.© -

§ Q3. Whatisthe net charge on the peptide : phe-Glu-Lys-Met at pH12?
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lutamine can exist in :




» characterized by rigid motion in proteins, is formed between-
i | group of one amino acid and the alpha-amino group of the next one.
-carbon of one amino acid and the alpha-amino nitrogen of the next one.

ia carbon and the alpha-amino nitrogen of the same amino acid.

pha-carbon and the alpha-carboxyl carbon of the same amino acid.

Tyrosine
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' At a n_'-.:'-;"' ¥ ' - {.-;.-w,l

i€ point of an amino acid is the point at which the molecule:

EW with overall zero charge -

b) Is polar with overall negative charge
ﬁ Is polar with an overall positive charge
ﬁ Is nonpolar

&‘{wmm of the following statements about glutathione is NOT CORRECT?

a) It contains a gamma-glutamyl residue

~ —5b) Itacts as an oxidizing agent in the cell
€) The reduced form has a —SH group

] d) The oxidized form contains an 5-5 bond

Q15. What is the net charge on the peptide: phe-Glu-Lys-Met at pH1?

a) Zero

b) +1

c) -1
—b _df +2

'Q16.Which statement is NOT CORRECT about the peptide bond ?

‘a) The peptide bond has partial double-bound character -
1 IH}' The peptide bond is longer than the typical carbon-nitrogen bond
ﬂé:} Rﬂtﬁnort is restricted about the peptide bond
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€ tollowing aming acige hasa -CONH2 group in its side chain?
| Glutamine
b) Glutamic acig
€) Tyrosine
d) Lysine

Q20. Which of the following amino acids is not chiral ?

a] Proline
~ % .b) Glycine
c) Alanine
d) Lysine

Q21. Which of the following amino acids is 2 precursor of Thyroxine?

a) Tryptophan
b) Threonine
~ L.e]” Tyrosine
d) Lysine
' @22. Which of the following is a tripeptide?

&) Carnosine

-q? Enkephalin ©

t is the net charge on the peptide: Tl_'p—His-ASp-ma atpH 127
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th of the following amino acids is a precursor of Thyroxine?

.-‘-'Q]"-Tﬁ'ﬂl_a@phan
b) Threonine
~5@) " Tyrosine
d) Lysine
@26.Which of the following amino acid pairs are polar?

a) Valand Asp
=) Argand Glu

¢} Leuand Met

d) ileandLys -

/Q27. During titration with a strong base asparagine can exist in :

a) Oneionic form

by Tow ionic forms
1> ) Three ionicforms

~d) Four ionic forms

‘Q28. Which of the following amino acids has hydrophobic (non-polar) side chain ?
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3] two peptide bonds
% b) four peptide bonds
¢) sixpeptide bonds
~d) three peptide bonds

What is the net charge on the tripeptide G lu-Asp-Val at pH 7.0, if the pKa of NH2 terminal = 10.1
~COOH terminal =2.3? =

i-!'iifﬂie following is a small peptide?

o 'is..gai"i-i;r as a result of :
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8. Which of the following is a hydrophobic substance?

b) Ethanol
) Sucrose
-1 @) Hexane

il nfthafqﬂumng statement is correct about the dipeptide carnosine?

ufactured as a drug
d of beta-Alanine-L-Histidine
d of alpha-Alanine-L_Histidine

I.- .’I | ¢l N
:Glu-Asp-Val at physiological pH if the pKa of NHz terminal

n the tripeptid
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13 . Amino acids have the zwitterionic structure:

78) At their pl

) At very high pH

) When the molecule carries a net negative charge
~d) When the molecule carries a net positive charge

C 44 Which of the following amino acids has hydrophobic (non-polar) side chain ?
.', ile
€} Cys
ﬁ] Ser
Emgpﬂug—titraﬂnn with a strong base Lysine can existin :

-
a) One ionic form
b) Tow ionic forms
Three ionic forms
Four ionic £OTMS —

luced glutathione contains:

o =1

arge on the tripeptide :GIn-Asp-Val at pH 11.0, if the pKa of NH2 terminal = 10.1
237 ramt= o«
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I of the following amino acids is optically inactive?
3) Threonine

L) Glycine

¢) Alanine

d) Lysine

Q50. Which of the following amino acids is aromatic?

a) Proline
3 b) Serine
= __%z €) Tyrosine
: d) Arginine

Q51. A given amino acid has the following pKa values: a-COOH=2.18, a-NHa= 8.95 and si
10.53. Then its Pl value is:

de chain =

a) 5.56

b) 974
t_:} 7.22




€) Tyrosine
d) Tryptophane

Q56.which of the following amino acid is achiral?

a) Proline

~—%2b) Glycine
c) Alanine
d) Lysine

Q57.an antibiotic peptide is:

‘a) Glutathione

--E}',.&UT Gramicidin S

~ ¢) Enkephalin
d) Oxytocin

58 Glutathione is an important scavenger of oxidizing agents because it contains:

=

{1
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- A) Zero :

b) +1
>e) 2
d) +2

Q62. A given amino acid has the foliowin

E pKavalues: @-COOH=2.15, g-NH3:=
3.85. Then its Pl value is:

8.95, and side chain(RH) =

a) 5.55
=12 by 3.00
c) 4.98
d) 6.40

: , - Q63. Which of the following is a dipeptide?
b . :

za] Carnosine
b) Glutathione
CligoRyoin
‘d) Enkephalin

is the net charge on the peptide : Phe-Glu-Lys-Met at pH1?

ollowing amino acids has one isomer?
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: Wun Answer Question Answer | EUEIL ATSHEr
N 1 D 23 D 45 D
- % ) D 24 B 46 A
| 3 c 25 c 47 | c
[ 4 C 26 B a8 2
= = A 27 c 49 B
6 Cc 28 A 50 C
7 A 29 D 51 B
I B 30 D 52 B
e D 31 A 53 A
T 10 c 32 E 54 B
R B 33 C 55 A
= D C 34 C 56 B
13 A 35 B 57 Bl
14 B 36 A 58 B_
5 D 37 D 59 B
i B 38 D 60 A
By 39 B 61 <
TR 40 B 62 B
._..M | — _".;;? a1 B 63 13‘1
= a2 T 64 D
= a3 A 65 B
= = A 66 c
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